2A: 2

A&

HE: N FOMH BASH(SYHYLM/5Y - 5&)
ool AIRIEOIEE 29 CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
B 697,403 745,397 A47,994
AME FUMH HASH (SYHY /5 - 52) 174,050 155,050 19,000
NolEoS8E 29 124,050 105,050 19,000
NOIEOI#E &0 50,050 50,050 0
202 Oft 1,380 1,380 0
01 =0l 1,380 1,380 0
=0 &t 1,380 1,380 0
OF=2 TXICHH W0 60,0008 x4 *23] 480
OAE U257 DT &4
60,0002 *3% *53] 900
301 LsBAD 48,670 48,670 0
05 EX- 0% - HHHSELS 47,170 47,170 0
=0 47,170 47,170 0
Ool& JlEsg 200,0002 * 142 * 122 33,600
Oo0l& 4012 200,000 * 14 *23] 5,600
OO0l& slolas +g
20,0002 143 x28| + 128 6,720
oz sy 25,0008 %252 x23] 1,250
09 BAAHIRAS 1,500 1,500 0
= 0 &t 1,500 1,500 0
OO0l AZDE, HOILS H&T 24
10,0002 25 +33] 750
OO0 AEFF HAS FAT 24
10,0002 252 *33] 750
Rle SaHARE!(F21E 010 &) 60,000 55,000 5,000
401 ANZHILLTHY 60,000 50,000 10,000
01 Al&HI 60,000 50,000 10,000
=0 4t 60,000 50,000 10,000
OFBRAN F¥ }242 T4
20,000,000% *14] 20,000
OFFREN FH UK =4
20,000,000% *14] 20,000
OAN HEMDOIOZ HE FA
20,000,000% *14] 20,000
ZolFo N 29 5,800 0 5,800
201 sty 5,000 0 5,000
01 AtR2lY| 5,000 0 5,000
=0 & 5,000 0 5,000
O BHOO&SARE £ 100,002 +20% 23] 4,000
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SH: NS
Ha: QMDY FOME HASH(SYHLLL/5Y - 55)
ool AIRIEOIEE 29 CERE
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
O FUHOOA oA 2 (B S HMA)
1,000,0002 *14] 1,000
301 LsBA3 800 0 800
09 AAHIRAS 800 0 800
=0 & 800 0 800
O FUHMKAM B S22 AHIRY
20,0002 ¥20% *23| 800
ZOUTR L HEHRY 8,200 0 8,200
201 Yur2Hl 7,200 0 7,200
01 At 2teltl 7,200 0 7,200
=0 &t 7,200 0 7,200
O FURIAR 5l0 A 2g
20,0008 %252 * 122 6,000
O ZURIMEH 2Y A28 7
100,000 128 1,200
301 ysrEAR 1,000 0 1,000
09 BAAHIEZAZ 1,000 0 1,000
= 0 &t 1,000 0 1,000
O FOURIAY HEX A&
40,0008 25 *13] 1,000
LR 50,000 50,000 0
MESH WAL 50,000 50,000 0
401 ANSHILLHY 50,000 50,000 0
01 Al&HI 50,000 50,000 0
=0 A 50,000 50,000 0
OMEEH HAAS  30,000,0002 174 £ 30,000
OZ0IZH 22 A% a4
20,000,000% *14] 20,000
AN SYINYRE(SHHLLL/5Y - 55) 437,400 505,000 67,600
SeIBES U WY 437,400 505,000 67,600
SUIIBES S ARD SAAY(FUHMMA) 437,400 505,000 67,600
401 ANSHIL2THY 437,400 505,000 67,600
01 Al&HI 437,400 504,150 66,750
= 0 &t 437,400 504,150 66,750
ONI0iE AYR A THBA
125,000 *200m 25,000
OSxIOlE ALY HXIBA
100, 0002 *50m 5,000
OMBOIE UM 842 FHISA
100,000 *250m 25,000
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SN
X ZH -
L=

el

ra
40

fa
o

HE . o9 (3) - NEAY - BE= o @(Lﬂle;jﬁ;ﬂ =2
OstE0I2 ot 2Y X SAt
600, 0003 *30m 18,000
OStE0IE otd AFZ2A 300, 000& *40m 12,000
OO0 22 FHISA
25,000,000 14! 25,000
OFR0IE s A3 A 500,000& *30m 15,000
OUEOIE HEA HH| 2 Ak 600,000 *x25m 15,000
O&ELIE Mgz & ZTEHIA
22,000,000 =14 22,000
OUXOIE2 3 XX HHl 3 Ak 400,000& = 15m 6,000
OgTilS 2ti£=2 ZHlZ2Al
20,000,000 «14! 20,000
Odt20t2 s J4Hl3SA 110, 000& *200m 22,000
Odt20t2 =2 4|3 At 160, 000& *50m 8,000
OJIE0i2 =2 EUHIZAF 115,000& *200m 23,000
OIS0 s Ul SA 100, 000& *60m 6,000
OZDIE s8 Z&ES A 25,000,000 14 25,000
O3240I2 s 4l 3SA 5,000,000& * 14! 5,000
O24d0I2 Stl+=Z ZHIZAl
20,000,000 14! 20,000
O30 s dHIZ2AF 25,000,000 * 14 25,000
OZAOIS ot AUl Z2AF 20,000,000 * 14! 20,000
OZAOIES ot B2 AL 3,000,000& * 14! 3,000
Os40ls dgz |l 2AF 250,000& *20m 5,000
ORII0IE ot OtAaEd ZESAL
20,000,000 =14 20,000
OAM =Xz MY & IHISA
30,000,000 =14 30,000
Ozd M2MEED =2 HHISAH
5,000,000 x 14! 5,000
OZZBHALA AHHIZ2 At 680,000 *25JH A 17,000
OEoS &AXIS3At 1,540,000& x10JH 2~ 15,400
M 2 (AN H)(IIEH/DIIE}) 85,953 85,347 606
A2AHI 21,093 20,487 606
A2 AY| 21,093 20,487 606
ol 24 H| 21,093 20,487 606
B 21,093 20,487 606
= 0l & 21,093 20,487 606
O AZ2te 224
10,2992 x8H x 17 Al 2+ x12& 16,808
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SN NS
M HHE2H AU (M) (IIEH/IIE)
chel: ol 2| (69l @
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES Sl T BlRE2
O A2 222g(MSHI4)
10,2093 x2& 4 Al 2H+52 4,285
JlE3l 64,860 64,860 0
Jl2ztl 64,860 64,860 0
201  LEL2IH] 30,400 30,400 0
01 AtR2Zeldl 20,400 20,400 0
= 0fl & 20,400 20,400 0
OzAZRAE EY S 7
250,000& »1CH +53] 1,250
OZgH EH 5 #7¢ 240,000 *4CH 43| 3,840
O=AMIl EH 5 7 250,000 *1CH 53] 1,250
O=SAMEX 7L (A4) 22,0003 x5 A %123 1,320
OMEES 78 30,000 x9H 123 3,240
O&¥=J 8 gtz 70,0003 *2CH 123 1,680
OYRFA S204H|
8,000& x9H «3L 122 2,592
O=AJl, Z8lHd =& "Xt
300,000& *53] 1,500
OMNEEE 8% A 150,000& =53l 750
O&JIIHEEH =2 130,000& =13l 130
OArYotdEH =2 130,000& =13l 130
OAEBE ¢ 226,500 128 2,718
02 22293l 10,000 10,000 0
= 0fl & 10,000 10,000 0
ORER= 38,2503 128 459
Oste=s 25,0003 128 300
OdIIMNEZ 500,000& x12& 6,000
OAN & &EHl SXbl 335,500 *23| 671
Oosxg H=4l 160,000& =122 1,920
OXts Al 50,000& %13 50
OE2XE =%l 300,000& *23| 600
202 04| 24,300 24,300 0
02 HOHYI 24,300 24,300 0
= Off & 24,300 24,300 0
OE M| 225,000& x9H « 128 24,300
203 YR F&H 10,160 10,160 0
01 JI22EHRFEHI 7,700 7,700 0
= Ofl & 7,700 7,700 0
OANHE 7,700,000& x1H 7,700
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M ANH
FH: HE2AZH (AAMH)(IIEH/IIE
chel: JI23l (&)
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
02 ZIINEHISFAH 360 360
= Off & 360 360 0
OF A 2= 40,0003 9 360
04 REARIHRFXIH 2,100 2,100 0
= Off & 2,100 2,100 0
ORN2ZE 28I 175,000& = 12H 2,100
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